

**BID2019-12 LEAD SERVICE LINE REPLACEMENT – PHASE 1A FOR THE CITY OF TRENTON AND EWING TOWNSHIP FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER BID OPENING 3/28/2019 AT 11:00AM**

1 Roman

BID2019-12 (Phase 1A)

PRICE SCHEDULE  
 TRENTON WATER WORKS  
 LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A  
 BID2019-12  
 BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A.1T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON <small>(FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)</small>		810	EACH		
Three Thousand, Three Hundred Thirty Dollars, No Cents <small>(write Unit Price in words)</small>				\$ 3,330.00	\$ 2,697,300.00
1. A.2T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON <small>(FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)</small>		810	EACH		
One Thousand, Seven Hundred Fifty Dollars, No Cents <small>(write Unit Price in words)</small>				\$ 1,750.00	\$ 1,417,500.00
1. A.1E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING <small>(FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)</small>		360	EACH		
Three Thousand, Three Hundred Thirty Dollars, No Cents <small>(write Unit Price in words)</small>				\$ 3,330.00	\$ 1,198,800.00
1. A.2E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING <small>(FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)</small>		360	EACH		
One Thousand, Nine Hundred Fifty Dollars, No Cents <small>(write Unit Price in words)</small>				\$ 1,950.00	\$ 702,000.00
1. B.T. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - TRENTON (MAIN TO <small>CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)</small>		100	EACH		
Three Thousand, Three Hundred Thirty Dollars, No Cents <small>(write Unit Price in words)</small>				\$ 3,330.00	\$ 333,000.00
1. B.E. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - EWING <small>(MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)</small>		50	EACH		
Three Thousand, Three Hundred Thirty Dollars, No Cents <small>(write Unit Price in words)</small>				\$ 3,330.00	\$ 166,500.00
1. C.T. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON <small>(CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)</small>		60	EACH		
One Thousand, Seven Hundred Fifty Dollars, No Cents <small>(write Unit Price in words)</small>				\$ 1,750.00	\$ 105,000.00
1. C.E. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING <small>(CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)</small>		40	EACH		
One Thousand, Nine Hundred Fifty Dollars, No Cents <small>(write Unit Price in words)</small>				\$ 1,950.00	\$ 78,000.00
1. D. NEW CORP STOP AT MAIN		325	EACH		
Nine Hundred Fifty Dollars, No Cents <small>(write Unit Price in words)</small>				\$ 950.00	\$ 308,750.00
1. E. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER <small>MAIN</small>		30	EACH		
One Thousand Dollars, No Cents <small>(write Unit Price in words)</small>				\$ 1,000.00	\$ 30,000.00

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	F. WATER METER REPLACEMENT  Thirty Dollars, No Cents (write Unit Price in words)	650	EACH		
				\$ 30.00	\$ 19,500.00
1.	G. BALL VALVE  Twenty-Five, No Cents (write Unit Price in words)	1,170	EACH		
				\$ 25.00	\$ 29,250.00
1.	H. RIGHT OF ENTRY NOT GRANTED  Fifty Dollars, No cents (write Unit Price in words)	200	EACH		
				\$ 50.00	\$ 10,000.00
1.	I. ACCESS NOT PROVIDED  Forty Dollars, No cents (write Unit Price in words)	80	EACH		
				\$ 40.00	\$ 3,200.00
1.	J. CURB STOP IN CONCRETE  Two Hundred, No cents (write Unit Price in words)	900	EACH		
				\$ 200.00	\$ 180,000.00
1.	K. LONG-SIDE REPLACEMENT  Two Hundred Dollars, No cents (write Unit Price in words)	650	EACH		
				\$ 200.00	\$ 130,000.00
2.	TEST PIT AT CURB STOP  Five Hundred Dollars, No cents (write Unit Price in words)	300	EACH		
				\$ 500.00	\$ 150,000.00
3.	A. FINAL PAVEMENT RESTORATION (Infa-red)  One Dollar, No cents (write Unit Price in words)	450	SY		
				\$ 1.00	\$ 450.00
B.	FINAL PAVEMENT RESTORATION (Mill and Paving)  Twenty-Six Dollars, No cents (write Unit Price in words)	6,000	SY		
				\$ 26.00	\$ 156,000.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER  ONE HUNDRED AND FIFTY THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE		
				\$150,000	\$150,000
5.	TRAFFIC CONTROL  THREE HUNDRED AND FIFTY THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE		
				\$350,000	\$350,000
6.	PERMITS  THREE HUNDRED THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE		
				\$300,000	\$300,000

<b>PRICE SCHEDULE</b> <b>TRENTON WATER WORKS</b> <b>LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A</b> <b>BID2019-12</b> <b>BASE BID</b>					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
7.	ENVIRONMENTAL PROTECTION		ALLOWANCE		
	ONE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			\$100,000	\$100,000
TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)		\$ 8,615,250.00			
TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)		\$ Eight Million, Six Hundred Fifteen Thousand, Two-Hundred Fifty Dollars, No Cents			

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A CONTRACT NO. 2019-12 SUPPLEMENTAL BID					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET Fifty Dollars, No cents (write Unit Price in words)	400	CY	\$ 50.00	\$ 20,000.00
S-2A.	IMPORTED COMMON FILL Fifty Dollars, No cents (write Unit Price in words)	40	CY	\$ 50.00	\$ 2,000.00
S-2B.	CRUSHED STONE Fifty Dollars, No cents (write Unit Price in words)	20	CY	\$ 50.00	\$ 1,000.00
S-2C.	DENSE-GRADED AGGREGATE Fifty Dollars, No cents (write Unit Price in words)	40	CY	\$ 50.00	\$ 2,000.00
S-2D.	FLOWABLE FILL One Hundred Twenty-Five Dollars, No cents (write Unit Price in words)	10	CY	\$ 125.00	\$ 1,250.00
S-3A.	FINAL PAVEMENT CURB TO CURB Twenty-One Dollars, No cents (write Unit Price in words)	7,600	SY	\$ 21.00	\$ 159,600.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE Three Hundred Dollars, No cents (write Unit Price in words)	60	SY	\$ 300.00	\$ 18,000.00
S-3C.	GRAVEL DRIVEWAY One Hundred Fifty Dollars, No cents (write Unit Price in words)	30	SY	\$ 150.00	\$ 4,500.00
S-3D.	BRICK OR ROCK PAVERS Two Hundred Seventy-Five Dollars, No cents (write Unit Price in words)	20	SY	\$ 275.00	\$ 5,500.00
S-3E	ASPHALT PRICE ADJUSTMENT TWO THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$2,000	\$2,000
S-4.	MISC. CONCRETE One Hundred Fifty Dollars, No cents (write Unit Price in words)	20	CY	\$ 150.00	\$ 3,000.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 218,850.00	Two Hundred Eighteen Thousand, Eight Hundred Fifty Dollars, no Cents		
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)					
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 8,834,100.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS			\$ Eight Million, Eight Hundred Thirty-Four Thousand, One Hundred Dollars, No Cents		

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

DATE

3/22/19

IF AWARDED A CONTRACT, PLEASE PROVIDE CONTACT, ADDRESSES FOR PURCHASE ORDERS AND CHECK REMIT TO INFORMATION, COPY OF YOUR W9 AND UPON AWARD, FORWARD TO THE CITY OF TRENTON, ACCOUNTS AND CONTROL DEPARTMENT, 319 EAST STATE STREET, TRENTON, NJ 08608 (609) 989-3043.

CONTRACT

Phase 1(A) Trenton LSLR  
COMPANY

Roman E+G Corp

PURCHASE ORDER MAILED TO:

14 Ogden street  
Newark, NJ 07104

CHECK REMIT TO:

Same

TELEPHONE

(973) 482-1123

FAX

(973) 482-7154

**PROVIDE A LIST SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Alfonza Mechanical Contracting, LLC  
 ADDRESS 419 15<sup>th</sup> Avenue  
 CITY, STATE, ZIP Newark, NJ 07103  
 TELEPHONE: (973)565-9076  
 FAX NO. n/a  
 TRADE Plumber  
 LICENSE NO. 36B101230200

NAME Brent Material Co  
 ADDRESS 325 Columbia Turnpike Suite 308,  
 CITY, STATE, ZIP Florham Park, NJ 07932  
 TELEPHONE: (973)325-3030  
 FAX NO. (973)325-7360  
 TRADE Material  
 LICENSE NO. n/a

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A BID2019-12 BASE BID					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A.1T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	<u>four thousand six hundred dollars</u> (write Unit Price in words)	810	EACH	\$ 4,600.00	\$ 3,726,000.00
1. A.2T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	<u>Eight hundred dollars</u> (write Unit Price in words)	810	EACH	\$ 800.00	\$ 648,000.00
1. A.1E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	<u>Four thousand dollars</u> (write Unit Price in words)	360	EACH	\$ 4,000.00	\$ 1,440,000.00
1. A.2E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	<u>Eight hundred dollars</u> (write Unit Price in words)	360	EACH	\$ 800.00	\$ 288,000.00
1. B.T. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - TRENTON (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	<u>Five thousand two hundred fifty dollars</u> (write Unit Price in words)	100	EACH	\$ 5,250.00	\$ 525,000.00
1. B.E. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - EWING (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	<u>Four thousand six hundred fifty dollars</u> (write Unit Price in words)	50	EACH	\$ 4,650.00	\$ 232,500.00
1. C.T. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	<u>One thousand dollars</u> (write Unit Price in words)	60	EACH	\$ 1,000.00	\$ 60,000.00
1. C.E. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	<u>One thousand dollars</u> (write Unit Price in words)	40	EACH	\$ 1,000.00	\$ 40,000.00
1. D. NEW CORP STOP AT MAIN	<u>Four hundred dollars</u> (write Unit Price in words)	325	EACH	\$ 400.00	\$ 130,000.00
1. E. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	<u>One thousand two hundred fifty dollars</u> (write Unit Price in words)	30	EACH	\$ 1,250.00	\$ 37,500.00

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	F. WATER METER REPLACEMENT  <u>Three hundred dollars</u> (write Unit Price in words)	650	EACH	\$ 300.00	\$ 195,000.00
1.	G. BALL VALVE  <u>One hundred seventy dollars</u> (write Unit Price in words)	1,170	EACH	\$ 170.00	\$ 198,900.00
1.	H. RIGHT OF ENTRY NOT GRANTED  <u>One hundred sixty-five dollars</u> (write Unit Price in words)	200	EACH	\$ 165.00	\$ 33,000.00
1.	I. ACCESS NOT PROVIDED  <u>Three hundred thirty dollars</u> (write Unit Price in words)	80	EACH	\$ 330.00	\$ 26,400.00
1.	J. CURB STOP IN CONCRETE  <u>Four hundred fifty dollars</u> (write Unit Price in words)	900	EACH	\$ 450.00	\$ 405,000.00
1.	K. LONG-SIDE REPLACEMENT  <u>Seven hundred fifty dollars</u> (write Unit Price in words)	650	EACH	\$ 750.00	\$ 487,500.00
2.	TEST PIT AT CURB STOP  <u>Five hundred dollars</u> (write Unit Price in words)	300	EACH	\$ 500.00	\$ 150,000.00
3.	A. FINAL PAVEMENT RESTORATION (Infa-red)  <u>Ten dollars</u> (write Unit Price in words)	450	SY	\$ 10.00	\$ 4,500.00
B.	FINAL PAVEMENT RESTORATION (Mill and Paving)  <u>Thirty-five dollars</u> (write Unit Price in words)	6,000	SY	\$ 35.00	\$ 210,000.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER  <u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL  <u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS  <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000

PRICE SCHEDULE  
 TRENTON WATER WORKS  
 LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A  
 BID2019-12  
 BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
7.	ENVIRONMENTAL PROTECTION		ALLOWANCE		
	ONE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			\$100,000	\$100,000
	TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)			\$ 9,737,300.00	
	TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)			\$ Nine million seven hundred thirty-seven thousand three hundred dollars	

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A CONTRACT NO. 2019-12 SUPPLEMENTAL BID						
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures	
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>Fifty dollars</u> (write Unit Price in words)	400	CY	\$ 50.00	\$ 20,000.00	
S-2A.	IMPORTED COMMON FILL <u>Thirty dollars</u> (write Unit Price in words)	40	CY	\$ 30.00	\$ 1,200.00	
S-2B.	CRUSHED STONE <u>Fifty dollars</u> (write Unit Price in words)	20	CY	\$ 50.00	\$ 1,000.00	
S-2C.	DENSE-GRADED AGGREGATE <u>Fifty dollars</u> (write Unit Price in words)	40	CY	\$ 50.00	\$ 2,000.00	
S-2D.	FLOWABLE FILL <u>One hundred twenty dollars</u> (write Unit Price in words)	10	CY	\$ 120.00	\$ 1,200.00	
S-3A.	FINAL PAVEMENT CURB TO CURB <u>Twenty-one dollars</u> (write Unit Price in words)	7,600	SY	\$ 21.00	\$ 159,600.00	
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>Five hundred fifty dollars</u> (write Unit Price in words)	60	SY	\$ 550.00	\$ 33,000.00	
S-3C.	GRAVEL DRIVEWAY <u>One hundred fifty dollars</u> (write Unit Price in words)	30	SY	\$ 150.00	\$ 4,500.00	
S-3D.	BRICK OR ROCK PAVERS <u>Three hundred dollars</u> (write Unit Price in words)	20	SY	\$ 300.00	\$ 6,000.00	
S-3E	ASPHALT PRICE ADJUSTMENT <u>TWO THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE		\$2,000	\$2,000
S-4.	MISC. CONCRETE <u>One thousand three hundred dollars</u> (write Unit Price in words)	20	CY	\$ 1,300.00	\$ 26,000.00	
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 256,500.00				
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ Two hundred fifty-six thousand five hundred dollars				
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 9,993,800.00				
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Nine million nine hundred ninety-three thousand eight hundred dollars				

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Di Stefano Plumbing, Inc.  
ADDRESS 4580 Crosswicks - Hamilton Square Rd.  
CITY, STATE, ZIP Trenton, NJ 08691  
TELEPHONE: 609 - 581 - 1285  
FAX NO. 609 - 585 - 0814  
TRADE Plumbing  
LICENSE NO. 36B100 608300

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

DEWCA 3  
BID2019-12 (Phase 1A)

PRICE SCHEDULE  
TRENTON WATER WORKS  
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A  
BID2019-12  
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A.1T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	<i>Thirty - One Hundred Dollars</i> (write Unit Price in words)			<u>\$ 3500.00</u>	<u>\$ 2835000.00</u>
1. A.2T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	<i>Thirty - One Hundred Dollars</i> (write Unit Price in words)			<u>\$ 3100.00</u>	<u>\$ 2511000.00</u>
1. A.1E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	<i>Thirty - One Hundred Dollars</i> (write Unit Price in words)			<u>\$ 3500.00</u>	<u>\$ 1260000.00</u>
1. A.2E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	<i>Thirty - One Hundred Dollars</i> (write Unit Price in words)			<u>\$ 3100.00</u>	<u>\$ 1116000.00</u>
1. B.T.	WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - TRENTON (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	100	EACH		
	<i>Thirty - One Hundred Dollars</i> (write Unit Price in words)			<u>\$ 3500.00</u>	<u>\$ 350000.00</u>
1. B.E.	WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - EWING (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	50	EACH		
	<i>Thirty - One Hundred Dollars</i> (write Unit Price in words)			<u>\$ 3100.00</u>	<u>\$ 155000.00</u>
1. C.T.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	60	EACH		
	<i>Thirty - One Hundred Dollars</i> (write Unit Price in words)			<u>\$ 3500.00</u>	<u>\$ 210000.00</u>
1. C.E.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	40	EACH		
	<i>Thirty - One Hundred Dollars</i> (write Unit Price in words)			<u>\$ 3100.01</u>	<u>\$ 1240000.00</u>
1. D.	NEW CORP STOP AT MAIN	325	EACH		
	<i>Thirty Dollars</i> (write Unit Price in words)			<u>\$ 50.06</u>	<u>\$ 16250.00</u>
1. E.	TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	30	EACH		
	<i>One Hundred Dollars</i> (write Unit Price in words)			<u>\$ 100.00</u>	<u>\$ 3000.00</u>

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	F. WATER METER REPLACEMENT <i>One Hundred Dollars</i> (write Unit Price in words)	650	EACH		
1.	G. BALL VALVE <i>One Hundred Dollars</i> (write Unit Price in words)	1,170	EACH	\$ 100.00	\$ 65000.00
1.	H. RIGHT OF ENTRY NOT GRANTED <i>One Hundred Dollars</i> (write Unit Price in words)	200	EACH	\$ 100.00	\$ 117000.00
1.	I. ACCESS NOT PROVIDED <i>One Hundred Dollars</i> (write Unit Price in words)	80	EACH	\$ 100.00	\$ 20000.00
1.	J. CURB STOP IN CONCRETE <i>Twenty Dollars</i> (write Unit Price in words)	900	EACH	\$ 100.00	\$ 90000.00
1.	K. LONG-SIDE REPLACEMENT <i>One Hundred Dollars</i> (write Unit Price in words)	650	EACH	\$ 50.00	\$ 45000.00
2.	TEST PIT AT CURB STOP <i>One Hundred Dollars</i> (write Unit Price in words)	300	EACH	\$ 100.00	\$ 65000.00
3.	A. FINAL PAVEMENT RESTORATION (Infa-red) <i>Thirty Dollars</i> (write Unit Price in words)	450	SY	\$ 100.00	\$ 30000.00
	B. FINAL PAVEMENT RESTORATION (Mill and Paving) <i>Thirty Dollars</i> (write Unit Price in words)	6,000	SY	\$ 30.00	\$ 13500.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$ 30.00	\$ 180,000.00
5.	TRAFFIC CONTROL <u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$ 150,000	\$ 150,000
6.	PERMITS <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$ 350,000	\$ 350,000
				\$ 300,000	\$ 300,000

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
7.	ENVIRONMENTAL PROTECTION  ONE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			ALLOWANCE  \$100,000	\$100,000
TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)					\$ 10,023,750.00
TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)					\$ Ten Million - Two - Thousand Seven Hundred & Fifty - One

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**CONTRACT NO. 2019-12**  
**SUPPLEMENTAL BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <i>One Dollar</i> (write Unit Price in words)	400	CY	\$ 1.00	\$ 400.00
S-2A.	IMPORTED COMMON FILL <i>One Dollar</i> (write Unit Price in words)	40	CY	\$ 1.00	\$ 40.00
S-2B.	CRUSHED STONE <i>One Dollar</i> (write Unit Price in words)	20	CY	\$ 1.00	\$ 20.00
S-2C.	DENSE-GRADED AGGREGATE <i>One Dollar</i> (write Unit Price in words)	40	CY	\$ 1.00	\$ 40.00
S-2D.	FLOWABLE FILL <i>One Hundred &amp; Twenty Dollars</i> (write Unit Price in words)	10	CY	\$ 1.00	\$ 10.00
S-3A.	FINAL PAVEMENT CURB TO CURB <i>Twenty - Two Dollars</i> (write Unit Price in words)	7,600	SY	\$ 120.00	\$ 1200.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <i>Two Hundred Dollars</i> (write Unit Price in words)	60	SY	\$ 25.00	\$ 1500.00
S-3C.	GRAVEL DRIVEWAY <i>One Dollar</i> (write Unit Price in words)	30	SY	\$ 200.00	\$ 12000.00
S-3D.	BRICK OR ROCK PAVERS <i>Two Hundred Dollars</i> (write Unit Price in words)	20	SY	\$ 1.00	\$ 30.00
S-3E	ASPHALT PRICE ADJUSTMENT  <i>TWO THOUSAND DOLLARS</i> (write Unit Price in words)		ALLOWANCE		\$ 200.00 \$ 4000.00
S-4.	MISC. CONCRETE <i>One Hundred &amp; Twenty Dollars</i> (write Unit Price in words)	20	CY	\$ 2,000	\$ 2,000
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 212,130.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ <i>Two Hundred &amp; Twenty Thousand - One Hundred &amp; Thirty Dollars</i>			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 10,235,000.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ <i>Ten Million - Two Hundred - Thirty - One</i> <i>Thousand - Eight Hundred &amp; Eighty Dollars</i>			
Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.					

**PROVIDE A LIST SUB-CONTRACTORS**  
**COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Dan Bernoski First Class Plumbing and Heating, L.L.C.  
 ADDRESS 134 Palmer Lane  
 CITY, STATE, ZIP Trenton, NJ 08618  
 TELEPHONE: 609.771.8842  
 FAX NO. 609.771.0643  
 TRADE Plumber  
 LICENSE NO. 12229 LLL 0400687134 EIN 204041631

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

4  
Spinelli

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A.1T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	<u>Two Thousand Six Hundred Dollars</u> (write Unit Price in words)			<u>\$ 2,600.00</u>	<u>\$ 2,106,000.00</u>
1.	A.2T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	<u>Two Thousand Nine Hundred Dollars</u> (write Unit Price in words)			<u>\$ 2,900.00</u>	<u>\$ 2,349,000.00</u>
1.	A.1E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	<u>Two Thousand Six Hundred Dollars</u> (write Unit Price in words)			<u>\$ 2,600.00</u>	<u>\$ 936,000.00</u>
1.	A.2E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	<u>Three Thousand Dollars</u> (write Unit Price in words)			<u>\$ 3,000.00</u>	<u>\$ 1,080,000.00</u>
1.	B.T. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - TRENTON (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	100	EACH		
	<u>Two Thousand Seven Hundred Dollars</u> (write Unit Price in words)			<u>\$ 2,700.00</u>	<u>\$ 270,000.00</u>
1.	B.E. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - EWING (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	50	EACH		
	<u>Two Thousand Seven Hundred Dollars</u> (write Unit Price in words)			<u>\$ 2,700.00</u>	<u>\$ 135,000.00</u>
1.	C.T. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	60	EACH		
	<u>Three Thousand Two Hundred Dollars</u> (write Unit Price in words)			<u>\$ 3,200.00</u>	<u>\$ 192,000.00</u>
1.	C.E. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	40	EACH		
	<u>Three Thousand Two Hundred Dollars</u> (write Unit Price in words)			<u>\$ 3,200.00</u>	<u>\$ 128,000.00</u>
1.	D. NEW CORP STOP AT MAIN	325	EACH		
	<u>One Thousand Three Hundred Dollars</u> (write Unit Price in words)			<u>\$ 1,300.00</u>	<u>\$ 422,500.00</u>
1.	E. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	30	EACH		
	<u>Three Thousand Three Hundred Dollars</u> (write Unit Price in words)			<u>\$ 3,300.00</u>	<u>\$ 99,000.00</u>

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	F. WATER METER REPLACEMENT  <u>Five Hundred Thirty Dollars</u> (write Unit Price in words)	650	EACH	\$ 530.00	\$ 344,500.00
1.	G. BALL VALVE  <u>Twenty Five Dollars</u> (write Unit Price in words)	1,170	EACH	\$ 25.00	\$ 29,250.00
1.	H. RIGHT OF ENTRY NOT GRANTED  <u>@ Fifty Three Hundred Fifty Dollars</u> (write Unit Price in words)	200	EACH	\$ 350.00	\$ 70,000.00
1.	I. ACCESS NOT PROVIDED  <u>One Thousand Six Hundred Dollars</u> (write Unit Price in words)	80	EACH	\$ 1,600.00	\$ 128,000.00
1.	J. CURB STOP IN CONCRETE  <u>Five Hundred Eighty Dollars</u> (write Unit Price in words)	900	EACH	\$ 580.00	\$ 522,000.00
1.	K. LONG-SIDE REPLACEMENT  <u>Nine Hundred Dollars</u> (write Unit Price in words)	650	EACH	\$ 900.00	\$ 585,000.00
2.	TEST PIT AT CURB STOP  <u>Seven Hundred Eighty Dollars</u> (write Unit Price in words)	300	EACH	\$ 780.00	\$ 234,000.00
3.	A. FINAL PAVEMENT RESTORATION (Infa-red)  <u>Forty Two Dollars</u> (write Unit Price in words)	450	SY	\$ 42.00	\$ 18,900.00
	B. FINAL PAVEMENT RESTORATION (Mill and Paving)  <u>Twenty Nine Dollars</u> (write Unit Price in words)	6,000	SY	\$ 29.00	\$ 174,000.00
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER  <u>One Hundred And Fifty Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL  <u>Three Hundred And Fifty Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS  <u>Three Hundred Thousand Dollars</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
7.	ENVIRONMENTAL PROTECTION		ALLOWANCE		
	ONE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			\$100,000	\$100,000
	TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)			\$ 10,723,150.00	
	TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)			\$ <u>Ten Million Seven Hundred Twenty Three Thousand</u> <u>One Hundred Fifty Dollars</u>	

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A CONTRACT NO. 2019-12 SUPPLEMENTAL BID					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>FIVE Hundred Ninety Dollars</u> (write Unit Price in words)	400	CY	\$ 590.00	\$ 236,000.00
S-2A.	IMPORTED COMMON FILL <u>Fifty Four Dollars</u> (write Unit Price in words)	40	CY	\$ 54.00	\$ 2,160.00
S-2B.	CRUSHED STONE <u>Fifty Four Dollars</u> (write Unit Price in words)	20	CY	\$ 54.00	\$ 1,080.00
S-2C.	DENSE-GRADED AGGREGATE <u>Fifty Four Dollars</u> (write Unit Price in words)	40	CY	\$ 54.00	\$ 2,160.00
S-2D.	FLOWABLE FILL <u>Three Hundred Forty Dollars</u> (write Unit Price in words)	10	CY	\$ 340.00	\$ 3,400.00
S-3A.	FINAL PAVEMENT CURB TO CURB <u>Twenty Two Dollars</u> (write Unit Price in words)	7,600	SY	\$ 2200	\$ 169,200.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>Forty Two Dollars</u> (write Unit Price in words)	60	SY	\$ 42.00	\$ 2,520.00
S-3C.	GRAVEL DRIVEWAY <u>Sixty Dollars</u> (write Unit Price in words)	30	SY	\$ 60.00	\$ 1,800.00
S-3D.	BRICK OR ROCK PAVERS <u>Two Hundred Dollars</u> (write Unit Price in words)	20	SY	\$ 200.00	\$ 4,000.00
S-3E	ASPHALT PRICE ADJUSTMENT <u>TWO THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE		
S-4.	MISC. CONCRETE  (write Unit Price in words)			\$ 2,000	\$ 2,000
		20	CY	\$ 340.00	\$ 6,800.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 429,120.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ <u>Four Hundred Twenty Nine Thousand One Hundred Twenty Dollars</u>			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 11,152,270.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ <u>Eleven Million One Hundred Fifty Two Thousand Two Hundred Seventy Dollars</u>			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME William J. Guarini, Inc.  
 ADDRESS 132 Malloy Avenue  
 CITY, STATE, ZIP Jersey City, N.J. 07304  
 TELEPHONE: 201.656.1530  
 FAX NO.  
 TRADE Plumbing  
 LICENSE NO. 19HC 00092800

NAME Modern Construction Inc  
 ADDRESS 2520 Matazo Drive  
 CITY, STATE, ZIP Toms River, N.J. 08753  
 TELEPHONE: 732.929.2707  
 FAX NO.  
 TRADE Plumbing  
 LICENSE NO. N/A

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

Water and  
Burgess  
BID2019-12 (Phase 1A)

6

PRICE SCHEDULE  
TRENTON WATER WORKS  
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A  
BID2019-12  
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A.1T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	<b>Three Thousand Two Hundred Ninety Two Dollars and Zero Cents</b> (write Unit Price in words)			<b>\$ 3,292.00</b>	<b>\$ 2,666,520.00</b>
1.	A.2T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	<b>Four Thousand Two Hundred Seventy Six Dollars and Eighty Five Cents</b> (write Unit Price in words)			<b>\$ 4,276.85</b>	<b>\$ 3,464,248.50</b>
1.	A.1E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	<b>Three Thousand Two Hundred Ninety Five Dollars and Eighty Cents</b> (write Unit Price in words)			<b>\$ 3,295.80</b>	<b>\$ 1,186,488.00</b>
1.	A.2E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	<b>Four Thousand Fifty Nine Dollars and Fifteen Cents</b> (write Unit Price in words)			<b>\$ 4,059.15</b>	<b>\$ 1,461,294.00</b>
1.	B.T. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - TRENTON (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	100	EACH		
	<b>Four Thousand Two Hundred Ninety One Dollars and Fifty Five Cents</b> (write Unit Price in words)			<b>\$ 4,291.55</b>	<b>\$ 429,155.00</b>
1.	B.E. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - EWING (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	50	EACH		
	<b>Four Thousand Three Hundred Fifty Eight Dollars and Eighty Cents</b> (write Unit Price in words)			<b>\$ 4,358.80</b>	<b>\$ 217,940.00</b>
1.	C.T. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	60	EACH		
	<b>Four Thousand Eight Hundred Thirty Nine Dollars and Fifty Five Cents</b> (write Unit Price in words)			<b>\$ 4,839.55</b>	<b>\$ 290,373.00</b>
1.	C.E. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	40	EACH		
	<b>Four Thousand Four Hundred Ten Dollars and Twenty Cents</b> (write Unit Price in words)			<b>\$ 4,410.20</b>	<b>\$ 176,408.00</b>
1.	D. NEW CORP STOP AT MAIN	325	EACH		
	<b>One Hundred Nineteen Dollars and Fifty Cents</b> (write Unit Price in words)			<b>\$ 119.50</b>	<b>\$ 38,837.50</b>
1.	E. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	30	EACH		
	<b>Two Thousand Four Hundred Forty Five Dollars and Zero Cents</b> (write Unit Price in words)			<b>\$ 2,445.00</b>	<b>\$ 73,350.00</b>

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	F. WATER METER REPLACEMENT	650	EACH		
	<b>Eighty Seven Dollars and Sixty Cents</b> (write Unit Price in words)			<b>\$ 87.60</b>	<b>\$ 56,940.00</b>
1.	G. BALL VALVE	1,170	EACH		
	<b>Fifty Six Dollars and Seventy Five Cents</b> (write Unit Price in words)			<b>\$ 56.75</b>	<b>\$ 66,397.50</b>
1.	H. RIGHT OF ENTRY NOT GRANTED	200	EACH		
	<b>Fifty Five Dollars and Eighty Five Cents</b> (write Unit Price in words)			<b>\$ 55.85</b>	<b>\$ 11,170.00</b>
1.	I. ACCESS NOT PROVIDED	80	EACH		
	<b>One Thousand Three Hundred Ten Dollars and Ten Cents</b> (write Unit Price in words)			<b>\$ 1,310.10</b>	<b>\$ 104,808.00</b>
1.	J. CURB STOP IN CONCRETE	900	EACH		
	<b>Nine Hundred Eighty Three Dollars and Fifty Five Cents</b> (write Unit Price in words)			<b>\$ 983.55</b>	<b>\$ 885,195.00</b>
1.	K. LONG-SIDE REPLACEMENT	650	EACH		
	<b>One Thousand Two Hundred Fifty Three Dollars and Fifteen Cents</b> (write Unit Price in words)			<b>\$ 1,253.15</b>	<b>\$ 814,547.50</b>
2.	TEST PIT AT CURB STOP	300	EACH		
	<b>Eight Hundred Thirty Four Dollars and Zero Cents</b> (write Unit Price in words)			<b>\$ 834.00</b>	<b>\$ 250,200.00</b>
3.	A. FINAL PAVEMENT RESTORATION (Infa-red)	450	SY		
	<b>One Hundred Eighty Seven Dollars and Eighty Cents</b> (write Unit Price in words)			<b>\$ 187.80</b>	<b>\$ 84,510.00</b>
B.	FINAL PAVEMENT RESTORATION (Mill and Paving)	6,000	SY		
	<b>One Hundred Fifty Dollars and Zero Cents</b> (write Unit Price in words)			<b>\$ 150.00</b>	<b>\$ 900,000.00</b>
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	<b>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</b> (write Unit Price in words)			<b>\$150,000</b>	<b>\$150,000</b>
5.	TRAFFIC CONTROL		ALLOWANCE		
	<b>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</b> (write Unit Price in words)			<b>\$350,000</b>	<b>\$350,000</b>
6.	PERMITS		ALLOWANCE		
	<b>THREE HUNDRED THOUSAND DOLLARS</b> (write Unit Price in words)			<b>\$300,000</b>	<b>\$300,000</b>

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
7.	ENVIRONMENTAL PROTECTION		ALLOWANCE		
	ONE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			\$100,000	\$100,000
	TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)		\$ <b>14,078,382.00</b>		
	TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)		\$ <b>Fourteen Million Seventy Eight Thousand Three</b> <b>Hundred Eighty Two Dollars and Zero Cents</b>		

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A CONTRACT NO. 2019-12 SUPPLEMENTAL BID					
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <b>Three Hundred Five Dollars and Zero Cents</b> (write Unit Price in words)	400	CY	\$ 305.00	\$ 122,000.00
S-2A.	IMPORTED COMMON FILL <b>Seventy Five Dollars and Fifty Cents</b> (write Unit Price in words)	40	CY	\$ 75.50	\$ 3,020.00
S-2B.	CRUSHED STONE <b>Eighty Nine Dollars and Sixty Cents</b> (write Unit Price in words)	20	CY	\$ 89.60	\$ 1,792.00
S-2C.	DENSE-GRADED AGGREGATE <b>Seventy Seven Dollars and Seventy Five Cents</b> (write Unit Price in words)	40	CY	\$ 77.75	\$ 3,110.00
S-2D.	FLOWABLE FILL <b>One Hundred Seventy Four Dollars and Ten Cents</b> (write Unit Price in words)	10	CY	\$ 174.10	\$ 1,741.00
S-3A.	FINAL PAVEMENT CURB TO CURB <b>Forty One Dollars and Forty Cents</b> (write Unit Price in words)	7,600	SY	\$ 41.40	\$ 314,640.00
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <b>One Hundred Two Dollars and Thirty Cents</b> (write Unit Price in words)	60	SY	\$ 102.30	\$ 6,138.00
S-3C.	GRAVEL DRIVEWAY <b>Thirteen Dollars and Seventy Cents</b> (write Unit Price in words)	30	SY	\$ 13.70	\$ 411.00
S-3D.	BRICK OR ROCK PAVERS <b>Thirty Three Dollars and Seventy Five Cents</b> (write Unit Price in words)	20	SY	\$ 33.75	\$ 675.00
S-3E	ASPHALT PRICE ADJUSTMENT <b>TWO THOUSAND DOLLARS</b> (write Unit Price in words)		ALLOWANCE	\$2,000	\$2,000
S-4.	MISC. CONCRETE <b>Eight Hundred Eleven Dollars and Thirty Cents</b> (write Unit Price in words)	20	CY	\$ 811.30	\$ 16,226.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 471,753.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ Four Hundred Seventy One Thousand Seven Hundred Fifty Three Dollars and Zero Cents			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 14,550,135.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Fourteen Million Five Hundred Fifty Thousand One Hundred Thirty Five Dollars and Zero Cents			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Cooper Plumbing & Mechanical LLC  
 ADDRESS 40 Paterson Ave  
 CITY, STATE, ZIP Hamilton, NJ 08691  
 TELEPHONE: 609-586-1813  
 FAX NO. 609-586-1814  
 TRADE Plumbing  
 LICENSE NO. Master Plumber 36BI01079000

NAME AC Photo Inc.  
 ADDRESS 199 New Rd, Suite 44  
 CITY, STATE, ZIP Linwood, NJ 08221  
 TELEPHONE: 609-926-1200  
 FAX NO.  
 TRADE Construction Photography  
 LICENSE NO. N/A

NAME Stokes Creative Group, Inc.  
 ADDRESS 1666 Route 206  
 CITY, STATE, ZIP Vincentown, NJ 08088  
 TELEPHONE: 609-859-8400  
 FAX NO.  
 TRADE Construction Photography  
 LICENSE NO. N/A

NAME Atlantic Infrared, Inc.  
 ADDRESS 5042 Industrial Road, Suite A  
 CITY, STATE, ZIP Wall Twp, NJ 07727  
 TELEPHONE: 732-899-8994  
 FAX NO. 732-899-8644  
 TRADE Asphalt Infrared Processes  
 LICENSE NO. N/A

NAME Ken Nagy Jr. & Son Trucking LLC  
 ADDRESS 10 Rhode Street  
 CITY, STATE, ZIP Sayreville, NJ 08872  
 TELEPHONE: 732-904-6782  
 FAX NO.  
 TRADE Trucking  
 LICENSE NO. N/A

*Metra* ⑥

BID2019-12 (Phase 1A)

PRICE SCHEDULE  
 TRENTON WATER WORKS  
 LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A  
 BID2019-12  
 BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A.1T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	<u>SEVEN THOUSAND DOLLARS</u> (write Unit Price in words)			\$ 7,000	\$ 5,670,000
1. A.2T.	WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	<u>FOUR THOUSAND DOLLARS</u> (write Unit Price in words)			\$ 4,000	\$ 3,240,000
1. A.1E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	<u>SEVEN THOUSAND DOLLARS</u> (write Unit Price in words)			\$ 7,000	\$ 2,520,000
1. A.2E.	WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	<u>SEVEN THOUSAND DOLLARS</u> (write Unit Price in words)			\$ 7,000	\$ 2,520,000
1. B.T.	WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - TRENTON (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	100	EACH		
	<u>SIX THOUSAND DOLLARS</u> (write Unit Price in words)			\$ 6,000	\$ 600,000
1. B.E.	WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - EWING (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	50	EACH		
	<u>SIX THOUSAND DOLLARS</u> (write Unit Price in words)			\$ 6,000	\$ 300,000
1. C.T.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	60	EACH		
	<u>FIVE THOUSAND DOLLARS</u> (write Unit Price in words)			\$ 5,000	\$ 300,000
1. C.E.	WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	40	EACH		
	<u>FIVE THOUSAND DOLLARS</u> (write Unit Price in words)			\$ 5,000	\$ 200,000
1. D.	NEW CORP STOP AT MAIN	325	EACH		
	<u>ONE THOUSAND DOLLARS</u> (write Unit Price in words)			\$ 1,000	\$ 325,000
1. E.	TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	30	EACH		
	<u>Two THOUSAND DOLLARS</u> (write Unit Price in words)			\$ 2,000	\$ 60,000

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	F. WATER METER REPLACEMENT  <u>FIVE HUNDRED DOLLARS</u> (write Unit Price in words)	650	EACH	\$ 500	\$ 325,000
1.	G. BALL VALVE  <u>TWO HUNDRED DOLLARS</u> (write Unit Price in words)	1,170	EACH	\$ 200	\$ 234,000
1.	H. RIGHT OF ENTRY NOT GRANTED  <u>TWO HUNDRED FIFTY DOLLARS</u> (write Unit Price in words)	200	EACH	\$ 250	\$ 50,000
1.	I. ACCESS NOT PROVIDED  <u>FIVE HUNDRED DOLLARS</u> (write Unit Price in words)	80	EACH	\$ 500	\$ 40,000
1.	J. CURB STOP IN CONCRETE  <u>THREE HUNDRED DOLLARS</u> (write Unit Price in words)	900	EACH	\$ 300	\$ 270,000
1.	K. LONG-SIDE REPLACEMENT  <u>FIVE HUNDRED DOLLARS</u> (write Unit Price in words)	650	EACH	\$ 500	\$ 325,000
2.	TEST PIT AT CURB STOP  <u>SEVEN HUNDRED FIFTY DOLLARS</u> (write Unit Price in words)	300	EACH	\$ 750	\$ 225,000
3.	A. FINAL PAVEMENT RESTORATION (Infa-red)  <u>FIFTEEN DOLLARS</u> (write Unit Price in words)	450	SY	\$ 15	\$ 6,750
	B. FINAL PAVEMENT RESTORATION (Mill and Paving)  <u>FOLEY FIVE DOLLARS</u> (write Unit Price in words)	6,000	SY	\$ 45	\$ 270,000
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER  <u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
5.	TRAFFIC CONTROL  <u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$350,000	\$350,000
6.	PERMITS  <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
7.	ENVIRONMENTAL PROTECTION  ONE HUNDRED THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE		
				\$100,000	\$100,000
	TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)			\$ 18,380,750	
	TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)			\$ EIGHTEEN MILLION, THREE HUNDRED EIGHTY THOUSAND, SEVEN HUNDRED FIFTY DOLLARS	

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A CONTRACT NO. 2019-12 SUPPLEMENTAL BID						
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures	
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>ONE HUNDRED DOLLARS</u> (write Unit Price in words)	400	CY	\$ 100	\$ 40,000	
S-2A.	IMPORTED COMMON FILL <u>SIXTY DOLLARS</u> (write Unit Price in words)	40	CY	\$ 60	\$ 2,400	
S-2B.	CRUSHED STONE <u>FIFTY DOLLARS</u> (write Unit Price in words)	20	CY	\$ 50	\$ 1,000	
S-2C.	DENSE-GRADED AGGREGATE <u>FOURTY FIVE DOLLARS</u> (write Unit Price in words)	40	CY	\$ 45	\$ 1,800	
S-2D.	FLOWABLE FILL <u>ONE HUNDRED TWENTY FIVE DOLLARS</u> (write Unit Price in words)	10	CY	\$ 125	\$ 1,250	
S-3A.	FINAL PAVEMENT CURB TO CURB <u>EIGHTEEN DOLLARS</u> (write Unit Price in words)	7,600	SY	\$ 18	\$ 136,800	
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>ONE HUNDRED NINETY DOLLARS</u> (write Unit Price in words)	60	SY	\$ 190	\$ 11,400	
S-3C.	GRAVEL DRIVEWAY <u>SEVENTY FIVE DOLLARS</u> (write Unit Price in words)	30	SY	\$ 75	\$ 2,250	
S-3D.	BRICK OR ROCK PAVERS <u>THREE HUNDRED DOLLARS</u> (write Unit Price in words)	20	SY	\$ 200	\$ 4,000	
S-3E	ASPHALT PRICE ADJUSTMENT <u>TWO THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE			
				\$2,000	\$2,000	
S-4.	MISC. CONCRETE <u>THREE HUNDRED FIFTY DOLLARS</u> (write Unit Price in words)	20	CY	\$ 350	\$ 7,000	
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 209,900				
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ TWO HUNDRED NINE THOUSAND AND NINE HUNDRED DOLLARS				
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 18,590,650				
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ EIGHTEEN MILLION FIVE HUNDRED NINETY THOUSAND, SIX HUNDRED FIFTY DOLLARS				

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Di STEFANO PLUMBING INC.  
 ADDRESS 4580 CROSSWICKS - HAMILTON SQUARE RD.  
 CITY, STATE, ZIP TRENTON NJ 08691  
 TELEPHONE: 609- 581- 1285  
 FAX NO. 609- 585- 0814  
 TRADE LIC. PLUMBER  
 LICENSE NO. 6083

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
 ADDRESS \_\_\_\_\_  
 CITY, STATE, ZIP \_\_\_\_\_  
 TELEPHONE: \_\_\_\_\_  
 FAX NO. \_\_\_\_\_  
 TRADE \_\_\_\_\_  
 LICENSE NO. \_\_\_\_\_

# Montana Construction

BID2019-12 (Phase 1A)

2

PRICE SCHEDULE  
TRENTON WATER WORKS  
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A  
BID2019-12  
BASE BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A.1T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	Eight thousand five hundred dollars (write Unit Price in words) no cents			\$ 8,500.	\$ 6,885,000.
1.	A.2T. WATER SERVICE FULL REPLACEMENT TYPE 1 - TRENTON (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	810	EACH		
	Eight thousand five hundred dollars (write Unit Price in words) no cents			\$ 8,500.	\$ 6,885,000.
1.	A.1E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - MAIN TO CURB STOP - TWW-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	Eight thousand five hundred dollars (write Unit Price in words) no cents			\$ 8,500.	\$ 3,060,000.
1.	A.2E. WATER SERVICE FULL REPLACEMENT TYPE 1 - EWING (FULL - CURB STOP TO METER - CUSTOMER-OWNED PORTION OF A FULL REPLACEMENT)	360	EACH		
	Eight thousand five hundred dollars (write Unit Price in words) no cents			\$ 8,500.	\$ 3,060,000.
1.	B.T. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - TRENTON (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	100	EACH		
	Eight thousand five hundred dollars (write Unit Price in words) no cents			\$ 8,500.	\$ 850,000.
1.	B.E. WATER SERVICE PARTIAL REPLACEMENT TYPE 2 - EWING (MAIN TO CURB STOP - TWW-OWNED PORTION - PARTIAL ONLY)	50	EACH		
	Eight thousand five hundred dollars (write Unit Price in words) no cents			\$ 8,500.	\$ 425,000.
1.	C.T. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - TRENTON (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	60	EACH		
	Eight thousand five hundred dollars (write Unit Price in words) no cents			\$ 8,500.	\$ 510,000.
1.	C.E. WATER SERVICE PARTIAL REPLACEMENT TYPE 3 - EWING (CURB STOP TO METER - CUSTOMER-OWNED PORTION - PARTIAL ONLY)	40	EACH		
	Eight thousand five hundred dollars (write Unit Price in words) no cents			\$ 8,500.	\$ 340,000.
1.	D. NEW CORP STOP AT MAIN	325	EACH		
	Five hundred dollars no cents (write Unit Price in words)			\$ 500.	\$ 162,500.
1.	E. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	30	EACH		
	Eight thousand five hundred dollars (write Unit Price in words) no cents			\$ 8,500.	\$ 255,000.

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	F. WATER METER REPLACEMENT	650	EACH		
	<u>One thousand five hundred dollars</u> (write Unit Price in words) <u>no cents</u>			<u>\$ 1,500.</u>	<u>\$ 975,000.</u>
1.	G. BALL VALVE	1,170	EACH		
	<u>Three hundred dollars no cents</u> (write Unit Price in words)			<u>\$ 300.</u>	<u>\$ 351,000.</u>
1.	H. RIGHT OF ENTRY NOT GRANTED	200	EACH		
	<u>One thousand dollars no cents</u> (write Unit Price in words)			<u>\$ 1,000.</u>	<u>\$ 200,000.</u>
1.	I. ACCESS NOT PROVIDED	80	EACH		
	<u>Five hundred dollars no cents</u> (write Unit Price in words)			<u>\$ 500.</u>	<u>\$ 40,000.</u>
1.	J. CURB STOP IN CONCRETE	900	EACH		
	<u>One thousand five hundred dollars</u> (write Unit Price in words) <u>no cents</u>			<u>\$ 1,500.</u>	<u>\$ 1,350,000.</u>
1.	K. LONG-SIDE REPLACEMENT	650	EACH		
	<u>Eight thousand five hundred dollars</u> (write Unit Price in words) <u>no cents</u>			<u>\$ 8,500.</u>	<u>\$ 5,525,000.</u>
2.	TEST PIT AT CURB STOP	300	EACH		
	<u>One thousand five hundred dollars</u> (write Unit Price in words) <u>no cents</u>			<u>\$ 1,500.</u>	<u>\$ 450,000.</u>
3.	A. FINAL PAVEMENT RESTORATION (Infa-red)	450	SY		
	<u>One hundred dollars no cents</u> (write Unit Price in words)			<u>\$ 100.</u>	<u>\$ 45,000.</u>
	B. FINAL PAVEMENT RESTORATION (Mill and Paving)	6,000	SY		
	<u>Thirty dollars no cents</u> (write Unit Price in words)			<u>\$ 30.</u>	<u>\$ 180,000.</u>
4.	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	<u>ONE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)			<u>\$ 150,000</u>	<u>\$ 150,000</u>
5.	TRAFFIC CONTROL		ALLOWANCE		
	<u>THREE HUNDRED AND FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)			<u>\$ 350,000</u>	<u>\$ 350,000</u>
6.	PERMITS		ALLOWANCE		
	<u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)			<u>\$ 300,000</u>	<u>\$ 300,000</u>

**PRICE SCHEDULE**  
**TRENTON WATER WORKS**  
**LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A**  
**BID2019-12**  
**BASE BID**

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
7.	ENVIRONMENTAL PROTECTION  ONE HUNDRED THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE		
				\$100,000	\$100,000
TOTAL BASE BID PRICE IN FIGURES (Items 1 through 7)		\$ <u>32,448,500.</u>			
TOTAL BASE BID PRICE IN WORDS (Items 1 through 7)		\$ <u>Thirty two million four hundred forty eight thousand five hundred dollars no cents</u>			

PRICE SCHEDULE TRENTON WATER WORKS LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 1A CONTRACT NO. 2019-12 SUPPLEMENTAL BID						
Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures	
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET  <i>Fifty dollars no cents</i> (write Unit Price in words)	400	CY	\$ 50.	\$ 20,000.	
S-2A.	IMPORTED COMMON FILL  <i>Fifty dollars no cents</i> (write Unit Price in words)	40	CY	\$ 50.	\$ 2,000.	
S-2B.	CRUSHED STONE  <i>Fifty dollars no cents</i> (write Unit Price in words)	20	CY	\$ 50.	\$ 1,000.	
S-2C.	DENSE-GRADED AGGREGATE  <i>One hundred dollars no cents</i> (write Unit Price in words)	40	CY	\$ 100.	\$ 4,000.	
S-2D.	FLOWABLE FILL  <i>Two hundred dollars no cents</i> (write Unit Price in words)	10	CY	\$ 200.	\$ 2,000.	
S-3A.	FINAL PAVEMENT CURB TO CURB  <i>Twenty five dollars no cents</i> (write Unit Price in words)	7,600	SY	\$ 25.	\$ 190,000.	
S-3B.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE  <i>Five hundred dollars no cents</i> (write Unit Price in words)	60	SY	\$ 500.	\$ 30,000.	
S-3C.	GRAVEL DRIVEWAY  <i>Fifty dollars no cent</i> (write Unit Price in words)	30	SY	\$ 50.	\$ 1,500.	
S-3D.	BRICK OR ROCK PAVERS  <i>Two hundred dollars no cents</i> (write Unit Price in words)	20	SY	\$ 200.	\$ 4,000.	
S-3E	ASPHALT PRICE ADJUSTMENT  TWO THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE			
				\$2,000	\$2,000	
S-4.	MISC. CONCRETE  <i>Three hundred dollars no cents</i> (write Unit Price in words)	20	CY	\$ 300.	\$ 6,000.	
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1 through S-4)		\$ 262,500.				
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1 through S-4)		\$ Two hundred sixty two thousand five hundred dollars no cents				
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 32,711,000.				
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Thirty two million seven hundred eleven thousand dollars no cents				

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID (MANDATORY)**

NAME Cooper Plumbing  
ADDRESS 40 Patterson Avenue  
CITY, STATE, ZIP Hamilton NJ  
TELEPHONE: 609-586-1813  
FAX NO.  
TRADE Plumbing  
LICENSE NO. \_\_\_\_\_

NAME None  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE HVAC  
LICENSE NO. \_\_\_\_\_

NAME Spark Electric  
ADDRESS 17 Commerce Street  
CITY, STATE, ZIP Somerville NJ  
TELEPHONE: 908-534-9600  
FAX NO.  
TRADE Electric  
LICENSE NO. \_\_\_\_\_

NAME Self perform  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE Steel  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

